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1stROUNDRIES
POS PLAYER cLuB TOT O I
1 & B E = F8C 72 38 34
2 e & E B MomGe 73 38 35
@@ F B HEEC 73 37 36
4 & FE E — KNG 76 38 38
= [E E Al A”C 76 41 35
o fE B OMLEEG 76 40 36
7HA R E AN BEG 77 39 38
fil F % Bk A 556 77 36 41
S H E E XiHG 78 40 38
B MR B — KMG 78 40 38
7 = {1 YotyhC 78 38 40
B E A R FHERC 78 38 40
135 & F F ARC 79 42 37
X 8 £ ARC 79 39 40
R SF BE UG 79 41 38
H B B /& ®BosC 79 37 42
17 8 X I 1T BEG 80 40 40
& X B S E BEG 80 41 39
N B B on 80 39 41
F B & % #BosC 80 38 42
21 # B @ F EHG 81 40 41
m 3 B 1 BEG 81 39 42
m R B F FHEC 81 43 38
b X By Jt&C 81 40 41
25 7 2 B 3 AMG 82 45 37
= I R O dRc 82 37 45
m #E 0 & ARC 82 40 42
% B LR MUERG 82 41 41
E B L R SHEG 82 40 42
B A X MLERG 82 40 42
KX Bk 88 BF ®G 82 40 42
B EF B FHEC 82 39 43
W H = HILMMG 82 43 39
34 Y B B — FAEC 83 43 40
1 H W ARC 83 45 38

POS PLAYER cLuB TOT O I
34 k H 72y BB dt%cC 83 40 43
& HE F X BEG 83 38 45
T B F K SHEG 83 41 42
JE 2 & — M4 Cc 83 44 39
#w B M Bo=C 83 43 40
41 /R & — ARC 84 40 44
A 8 H & E xic 84 39 45
B X E T KMe 84 42 42
M & K & Ke 84 42 42
it M ZF F WUEEG 84 41 43
E I & & S8 84 44 40
X B B 4 QMG 84 41 43
48 H = B FHBC 85 42 43
> ] Z BRG 85 43 42
| FHF i FREC 85 43 42
B A W T BEG 85 43 42
£ 18 8 MILG 85 41 44
Z E FE T MG 85 40 45
B B X — #lc 85 43 42
= B B X #ERG 85 39 46
56 W & & Z SEG 86 44 42
= A B 8 B BEosC 86 43 43
58 I A # — XMG 87 44 43
IR B B E%G 87 41 46
A H & X HuEEG 87 44 43
X 8 X BEG 87 46 41
g B B Eo=EC 87 47 40
63 [H gh KiMG 88 42 46
K K 8 ZE HLUEERG 88 45 43
RH B BIEG 88 41 47
S H F MMLEREEG 88 41 47
mH T R FHSC 88 44 44
NI i 538G 88 44 44
BOK & MUEEG 88 44 44
70 /v JIl % il EGA 89 47 42

POS PLAYER CLUB TOT O I

70 & A & {& Bumnc 89 45 44

725 1l E ¥ smumb-c 90 42 48

73 & g ¥ KMc 91 45 46
H B M & EGA 91 45 46
B X g — SEG 91 44 47
+F B B — g twhC 91 47 44
K B B X BEG 91 47 44
FHE E B LG 91 46 45
I’ & B = HEARC 91 45 46

80 S H @ X SAEG 92 46 46
E B B B MumN-C 92 48 44

82 HH & = E [ #lG 93 49 44

83 A M A = SE 94 44 50

84 B H B & E#&G 95 45 50

T B G 95 46 49
& &k & B BRG 95 44 51

87 £ @ B B MUEEG 96 51 45
= H B B 586 96 43 53
= B ¥ X BEG 96 45 51

9 K AN B [ FHSC 100 49 51
T & K #yw-c 100 56 44

92 B A #f — MumMWG 102 53 49

93 ¥ BB & FHMSC 105 52 53
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% & HE — BB vtyihc

&0 " M X vrbkc

R BB £ X BEG
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